Computer Proficiency Certification Test

Notations:
1.0ptions shown in green color and with # icon are correct.
2.0ptions shown in red color and with #* icon are incorrect.

ComputerProficiencyCertificationTest 12th Jan

Question Paper Name : 2025 Shift2 QP4

Subject Name: Computer Proficiency Certification Test
Creation Date: 2025-01-12 16:38:52
Duration : 120
Total Marks : 75
Display Marks: Yes
Share Answer Key With Delivery Engine: Yes
Actual Answer Key : Yes
Change Font Color: No
Change Background Color : No
Change Theme: No
Help Button: No
Show Reports: No
Show Progress Bar : No
CPCT
Group Number : 1
Group Id: 2549895294
Group Maximum Duration : 75
Group Minimum Duration : 75
Show Attended Group?: No
Edit Attended Group?: No
Break time: 1
Mandatory Break time : Yes
Group Marks : 75

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT

SKILLS AND NETWORKING
SectionId : 2549898448



Section Number: 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52

Number of Questions to be attempted: 52

Section Marks : 52

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898489
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The folder that remains in one folder while creating a hierarchical structure in a file system is
called a

Options:

1. * mini folder
2. % tiered folder
3. ¥ subfolder

4. # super folder

Question Number : 1 Question Id : 2549896487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
giurfaes Ge=AT (hierarchical structure) SHTd U ST9 vl thicex fohd) hicex & 3idifd gar g, af 3&

gl ST 8
Options:

1. ® B+ o=

2. % foTd wies
3. ¢ gdthicex

4. % R thicel

Question Number : 2 Question Id : 2549896856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

is a language which is used to design standardised Web Pages so that the Web
contents can be read and understood from any computer across the globe.

Options:



1. # Hyper Text Machine Language

2. ® Hyper Traffic Markup Language

3. # Hyper Transmission Markup Language
4. ¢ Hyper Text Markup Language

Question Number : 2 Question Id : 2549896856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Qeh HTNT & Foient IUTRT AT-chichd dd Uil ent fSSTTEH @l o forg foha SiTdT ¢ difes d« areaft ot
ST o) o foRet +ft heger & Ugr SR w3 71 e |

Options:

1. ¥ BEW oe AN oivdst

2. % gIZWR ¢ftheh AThSTT wiiast
3. % BEWR AR AR olids

4, ¢ GIZR T ATh3Y ciidel

Question Number : 3 Question Id : 2549896874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The basic computer information processing cycle consists of
Options:

1. ¥ input, processing, storage and output

2. % system and application data

3. # information and application

4. % hardware, software and firmware

Question Number : 3 Question Id : 2549896874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SMYRY hYeR G- THEHT <Ish H gid gl
Options:

1. ¢ 3qe, TR, WRS 3R 313eye

2. % fq%en 3R Bfecrehe SaT

3. ¥ ZApERM 3R Ufterehar

4. % AW, IR IR HHIW

Question Number : 4 Question Id : 2549897001 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Reusable optical storage will typically have the acronym:
Options :

1. % R

2. % W

3. % RM

4. ¥ RW

Question Number : 4 Question Id : 2549897001 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T: TR Siffieehel HRUT &l TTHTRIG: TfET A1 g
Options :

1. % R

2. % W

3. % RM

4, ¥ RW

Question Number : 5 Question Id : 2549897519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the key combination to add subscript in an OpenOffice writer?
Options:

1. # Ctrl+Shift+A

2. ¥ Ctrl+Shift+B

3. ® Ctrl+Shift+S

4, % Ctrl+Shift+D

Question Number : 5 Question Id : 2549897519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Qoh o ATthd A5 (OpenOffice writer) # Tafehte Stew o foly ghroit Tt T 8?2
Options:

1. #* Ctrl+Shift+A

2. ¥ Ctrl+Shift+B

3. #® Ctrl+Shift+S

4, % Ctrl+Shift+D

Question Number : 6 Question Id : 2549897808 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an output device?
Options:

1. * Monitor

2. ¥ Scanner

3. # Printer

4. % Plotter

Question Number : 6 Question Id : 2549897808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
=1 7 @ ept-a1, U 91seye fRasy gl &2
Options:

1. % AR

2. ¥ &R

3. % i

4, # R

Question Number : 7 Question Id : 2549898465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which function in MS-Excel 2019 converts a text string that represents a number to a number?
Options :

1. ¥ VALUE

2. % N

3. % NVAL

4, % VALN

Question Number : 7 Question Id : 2549898465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATY-Tad 2019 (MS-Excel 2019) & ahiF- IT thaR, Teh T&AT ohl [MUd e dTell Yeh ¢ae T ol I
# uRafda sear 8?2

Options:

1. ¥ VALUE

2. % N

3. % NVAL

4, % VALN



Question Number : 8 Question Id : 2549899317 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of printer?
Options :

1. % Ink jet printer

2. % Laser printer

3. ¥ Opto-mechanical printer

4. * Thermal printer

Question Number : 8 Question Id : 2549899317 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 & @ &9-91, T ek T yhR A8 § ?
Options :

1. % g Sl iR

2. % doR iR

3. ¢ Jiiet-AhfAend fiiex

4. % ogue fiieR

Question Number : 9 Question Id : 25498911610 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following can only have sequential access?
Options:

1. # Magnetic disk

2. ¥ Magnetic tape

3. ¥ CD-ROM

4, % DVD-ROM

Question Number : 9 Question Id : 25498911610 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfefed 7 @ forg e dhaat srgshffies Ugd (sequential access) g Gehdt 872
Options:

1. % Afee fewn

2. ¢ dfees ¢u

3. % CD-ROM




4. = DVD-ROM

Question Number : 10 Question Id : 25498922518 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following option in MS-Excel 2019 allows you to makes it easy to highlight certain
values or make particular cells easy to identify?

Options:

1. * Filter

2. % Sort

3. ¢ Conditional Formatting
4. # Format as table

Question Number : 10 Question Id : 25498922518 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TAGH-Y 2019 (MS-Excel 2019) # fRmfafaa & & onla- a1 faehey, o geal ot gr3eige s-m at faty
I hl UEIATAT O Il 872

Options:

1. % fohee (Filter)

2. % gIé (Sort)

3. ¢ GharrEd WA (Conditional Formatting)

4. % whife 9l ¢da (Format as table)

Question Number : 11 Question Id : 25498929848 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A linear barcode typically holds:
Options:

1. # signal information

2. # video information

3. # audio information

4. ¥ text information

Question Number : 11 Question Id : 25498929848 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Uoh A h IRDIS AR | gies (YURUT) R TohdT 8:

Options:



1. % &t s
2. # difeat gamEE
3. # SIS FAmEA
4, ' ToRe STHIAE

Question Number : 12 Question Id : 25498929904 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total number of unique patterns that can be generated using 8 bits is
Options:

1. % 127

2. ¥ 256

3. % 128

4. % 255

Question Number : 12 Question Id : 25498929904 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

8 fed o1 IuTNT ok Iu4 oy 11 Fepmt atet Sifg i e i et e gl
Options :

1. % 127

2. ¥ 256

3. % 128

4, % 255

Question Number : 13 Question Id : 25498930583 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

VLSI (Very Large Scale Integration) microprocessors are used in which generation of
computers?

Options:

1. * First Generation
2. % Third Generation
3. ¥ Fourth Generation
4. % Fifth Generation

Question Number : 13 Question Id : 25498930583 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



VLSI (3=t Tt Whet SERT) ATShITIRT ol TR fohe didt o dhuge=t & foran sirar &2
Options:

1. % ugeft digt

2. % fgd fd

3. ¢ <efi i

4. % gigdt g

Question Number : 14 Question Id : 25498930886 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following CANNOT be made using the plotters?
Options:

1. # Creating screen print stencils

2. * Creating your own stickers

3. ¢ Creating series of videos

4. # Cutting window tinting

Question Number : 14 Question Id : 25498930886 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAafaf@a & 9 o wifer o1 ST hech A8l S-S YendT 87
Options:

1. % h flie &Re T

2. % MU T o [ ST

3. ¢ difeat R =T

Question Number : 15 Question Id : 25498930921 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first drum plotter in the year 1959 workedon _____ pen(s).
Options:

1. # three

2. % zero

3. ¥ one

4. * five

Question Number : 15 Question Id : 25498930921 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Iy 1959 H UgeT SH Wilex __ OA/U-TT UR i ahall T
Options:

1. % &=

2. % =
3. 0%
4. % g

Question Number : 16 Question Id : 2549899535 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to do error-free calculations represents the characteristic of the computer.
Options:

1. # scalability

2. % accuracy

3. #® speed

4, % nolQ

Question Number : 16 Question Id : 2549899535 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ffe-3fed TOMT B Y AT, e A foRiwdr ot gl
Options:

1. % Ao

2. ¢ uRgLgdT

3. % 7ifq

4. % =g 1Q &l

Question Number : 17 Question Id : 2549899587 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following is credited with having conceived the first automatic digital
computer?

Options:
1. # Blaise Pascal
2. ¥ Charles Babbage

3. # Tim Berners-Lee



4. # John V Atanasoff

Question Number : 17 Question Id : 2549899587 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafea & 9 ford guw wanford fefiea dhager uRkenfeld et o1 st fear Smar 82
Options:

1. # dool Uhd

2. ¢ ey s

3. % e gdd &t

4. % S dt ACHNIh

Question Number : 18 Question Id : 25498910978 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which protocol is used to transfer individual files typically for an interactive user session?
Options:

1. % HTTP

2. % SMTP

3. % RIP

4. ¥ FTP

Question Number : 18 Question Id : 25498910978 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ferfqea IoR YaM Sl AfhiTd ThIgel ol WHIART TR & oIy TrIT=ira: B9 & Uielnler T IgahT fahar Ssrar
8?

Options :

1. % HTTP

2. # SMTP

3. ® RIP

4, FTP

Question Number : 19 Question Id : 25498911153 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a single user computer system having a moderately powerful
microprocessor?

Options:



1. ¥ Personal Computer
2. ® Mini-computer
3. # Mainframe Computer

4. % Supercomputer

Question Number : 19 Question Id : 25498911153 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

f=fofEa # & -1 Gever IuailiTenal sheger % ¢ foad Aegw rfhered! ATSehIUER giar 872
Options:

1. ¥ T R

2. % Ot g

3. % Aedhe dhageR

4. % FRHHR

Question Number : 20 Question Id : 25498913514 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With reference to compression formats, what does ALAC stands for?
Options :

1. ¥ Apple Lossless Audio Codec

2. % Apple Lossy Audio Codec

3. ¥ Apple Lossless Audio Cooperation

4. # Apple Lossless Audio Creation

Question Number : 20 Question Id : 25498913514 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hdtes ur=dt (compression formats) & dgef &, ALAC T oRIT 37 872
Options :

1. ¢ Apple Lossless Audio Codec (TWa didetd JiTedl hledh)

2. % Apple Lossy Audio Codec (Yud dret Jfifeat sieh)

3. % Apple Lossless Audio Cooperation (Yoel dldeid SiifSal Shl3iuRer)
4. % Apple Lossless Audio Creation (TWd @irdey JAifedt fehyer)

Question Number : 21 Question Id : 25498913613 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



When you type the text on the screen, a small vertical black line always blinks on the screen
called the

Options:

1. * indicator
2. ¥ cursor
3. ¥# shape

4., % jcon

Question Number : 21 Question Id : 25498913613 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ST ITT BhIF TR ¢ 3T Hed 8, Al Thi- UR GARIT Teh BICT TSI ahTelt T feeidh gid! I8l &, for

el STTdT 8
Options:
1. ¥ Shex
2. ¥ FIR

3. % g

4. % 3gepi

Question Number : 22 Question Id : 25498918571 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

System software controls a computer's internal functioning, chiefly through a/an
Options:

1. % Application Programs

2. ¥ Operating System

3. # Database Management System

4. * Random Access Memory

Question Number : 22 Question Id : 25498918571 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

O%eH FItREaR, e i SidReh SR el HRea: o ATegH o (AR Sear g1
Options:

1. % Ufcercherd U™

2. ¢ ATqRfeT faeeH

3. ¥ ey Ao [{wen

4, % Y YRY 7ARY



Question Number : 23 Question Id : 25498918583 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does RHEL stand for with reference to Operating Systems?
Options:

1. # Red Hat Eternal Linux

2. ¥ Red Hat Enterprise Linux

3. # Red Hat External Linux

4. # Red Har Everlasting Linux

Question Number : 23 Question Id : 25498918583 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SToRfET fa%en & daof # RHEL a1 < 31 872

Options:

1. % Red Hat Eternal Linux (38 &¢ Ued fora)

2. ¥ Red Hat Enterprise Linux (38 8¢ $exuTss feida)

3. # Red Hat External Linux (¥ 8¢ Tageda fomeq)

4. % Red Hat Everlasting Linux (38 8¢ Qa1 foi-em)

Question Number : 24 Question Id : 25498922718 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the inverter that is usually placed on the bottom of the LCD screen do?
Options :

1. ¢ It allows for the laptop’s display to be lit by providing power to the screen’s backlight.
2. # It supplies electricity to the LCD monitor when there is power failure.

3. ¥ It acts like a battery.

4. # It inverts the power supply.

Question Number : 24 Question Id : 25498922718 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

urg: Tedtel (LCD) BhiF & i fa 3=aék ol a1 oprd 872

Options :

1. ¢ Ug Thi- I dRATSE chl UTeR UGTH hich Uiy hl fSTet UehIfRId T g
2. % gg ot 7 811 W TerdiSl (LCD) AifAeR ol forsTeft ht Sigfed ehvar g1

3. % gg Uch et hl AR P AT &



4, % 7g farsrelt &Y Smyfd ent idafdd sear gl

Question Number : 25 Question Id : 25498924034 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a translator program?
Options:

1. ¢ Loader

2. % Compiler

3. ¥ Assembler

4. = Interpreter

Question Number : 25 Question Id : 25498924034 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
71 § & 39 91 Ue Tigele U T8l 8?
Options:

1. ¢ @

2. % Hhulger

3. ¥ Irfaer

4, % aT/UR

Question Number : 26 Question Id : 25498924323 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The directory structure of many operating system is:
Options:

1. % hierarchical

2. # discrete

3. # sequential

4, % random

Question Number : 26 Question Id : 25498924323 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Igd d ATRfET Reewy | Srgard) &t T gidt g1
Options:

1. ¢ uarehiAd (hierarchical)



2. % fafgaa (discrete)

3. ¥ 3rIehfAes (sequential)
4. % grgfeds (random)

Question Number : 27 Question Id : 25498924497 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Yahoo messenger data filehas _____ extension.
Options:

1.4 .yps

2. % yahoo

3. % .ysp

4, % yss

Question Number : 27 Question Id : 25498924497 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Yahoo 8YSR 31 g T GaRIesH 8l
Options:

1.4 .yps

2. % yahoo

3. % .ysp

4, % yss

Question Number : 28 Question Id : 25498925356 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Microsoft Word window has scroll bars.
Options:

1. ¥ two

2. * three

3. # four

4. % five

Question Number : 28 Question Id : 25498925356 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ATgshiarge a8 (Microsoft Word) fast & Thid IR gl 1

Options:



1.
2. % d=
3. % gR
4. % urg

Question Number : 29 Question Id : 25498940416 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A document that contains description of any event that has happened, which requires further
investigation is called a/an

Options:

1. ¥ Bug report

2. % Defect report
3. ¢ Incident report

4. % Test summary report

Question Number : 29 Question Id : 25498940416 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Uah g&draS fOgd fordY afea e ot faeror giar & fSraes fog o Sitar &Y srasgehar gidl &, 39

hegl ST 8|
Options:

1. % g R

2. % fSthere Rulé
3. ¢ S Rutd
4, % T g Raré

Question Number : 30 Question Id : 25498940557 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The unreachable code would best be found using:
Options:

1. ¥ a coverage analysis

2. % code inspection

3. ¥ atest management tool

4. % code reviews

Question Number : 30 Question Id : 25498940557 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

3T A€ (unreachable code) @t =1 & & foheehr IUANT Xk GerT Taiidieh Iug<h ghm?
Options:

1. ¢ dhazst faseAwoT (a coverage analysis)

2. % @re fAeror (code inspection)

3. ® gderur UsiY IUhT (a test management tool)

4, ¥ pre gHIET (code reviews)

Question Number : 31 Question Id : 2549896756 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following network's strategies are widely used on the internet?
Options:

1. * Terminal

2. ¥ Client/server

3. # Peer-to-peer

4. # Organisational

Question Number : 31 Question Id : 2549896756 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FEfafed # @ -3t Aeadh Lesit, e IR aue U § IR &l STl 672
Options:

1. % fiaa

2. ¥ A [ER

3. ¥ dhR-g-dhR

4. % MG

Question Number : 32 Question Id : 2549898788 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options:

1. ¢ Windows

2. * Google

3. #® Yahoo

4. # Bing



Question Number : 32 Question Id : 2549898788 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfafeaa & 9 aF-91 Te 9 394 61 82
Options:

1. « fdsisT (Windows)

2. ® T (Google)

3. % grg (Yahoo)

4. % fa (Bing)

Question Number : 33 Question Id : 2549899063 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following type advertising are shown between pages on a Web site?
Options:

1. ¢ Interstitial Banners

2. * Content sponsorships

3. #® Banner flags

4, % Pop-Ups

Question Number : 33 Question Id : 2549899063 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

f=fefEa & & forg veR & fa=iTo=T 39 d1ge R gst & e ey sird 8?2
Options:

1. ¢ RfRATA IR

2. ® dhie WiTRiy

3. ¥ SR AT

4. % Uig-37g

Question Number : 34 Question Id : 25498911061 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What do you mean by font weight with reference to Google fonts?

Options:

1. # Itis the character of numbers, weight, style.

2. # Itis defined in points that are often equal to pixels on a computer display.
3. # Itis a group of fonts.



4. « It refers to how thick a character is.

Question Number : 34 Question Id : 25498911061 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T Whiwed (Google fonts) & Hasf & tiw g (font weight) a1 T 312 g2
Options:

1. ® gg =1 (numbers), asH (weight), e (style) T daeR 8l

2. % 34 uigeq # FyiRa foram Sirar 8 Sit um: shrger feeet iR el & sRIsR gid 8l
3. ¥ Jg Whi~d ol U T9g 8|

4, « gg c1iar g foh g dhiaex fohamT AleT 81

Question Number : 35 Question Id : 25498911081 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid numeric format in Number tab of Format Cells window in
MS-Excel 2019?

Options:

1. ¢ Dollar

2. % Currency
3. #® Percentage

4. % Fraction

Question Number : 35 Question Id : 25498911081 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
THU-T 2019 (MS-Excel 2019) H Format Cells fdgt & Number ¢&& # fAmfeifea & @ aa9- ar ay

TATHh YUY gl 872

Options :
1. ¥ SR
2. % gt
3. % WIS
4, % Thee

Question Number : 36 Question Id : 25498911507 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following are types of memory?



A. Register Memory
B. Primary Memory or Main Memory
C. Secondary or Auxiliary Memory

Options:

1. % AandB

2. % Band C

3.% Cand A

4.+ All of A, Band C

Question Number : 36 Question Id : 25498911507 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f=fafEa d & -8 A9RY & TR 872

A. FIER AHRY

B. U3 AHIY a1 A AHI
C. Yohedt a1 HifeRTert AARY
Options:

1. % ASRB

2. % B3R C

3. % C3RA

4. A, B3R CaHl

Question Number : 37 Question Id : 25498911937 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When we copy a range in MS-Excel 2019, which of the following appear around the selected
area?

Options:

1. % Moving border

2. % Static border

3. # Double line border

4. ® Single line border

Question Number : 37 Question Id : 25498911937 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATY-Ted 2019 (MS-Excel 2019) & farddft 357 ot il ot iR, At TR & smgury arm fars 3t 872
Options:

1. ¢ R E&R




2. % e TR
3. # S TS Trex
4. % et A3 MSe

Question Number : 38 Question Id : 25498912498 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to insert page numbers in MS-Word 2019?
Options:

1. ¥ Insert > Page Number

2. % Draw > Page Number

3. # Mailing > Page Number

4. % References > Page Number

Question Number : 38 Question Id : 25498912498 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THEH-aE 2019 (MS-Word 2019) # Ut HeR 8ol & oy mfafeaa # @ forgenr Iuah fhar s depar 82
Options:

1. ¢ Insert > Page Number

2. % Draw > Page Number

3. # Mailing > Page Number

4, % References > Page Number

Question Number : 39 Question Id : 25498924659 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the shortcut key for double underline in MS-Word 2019?
Options:

1. ¢ Ctrl + Shift + D

2. % Ctrl + Shift+ H

3. # Ctrl + Shift+ U

4, % Ctrl + Shift + R

Question Number : 39 Question Id : 25498924659 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TIUE-a€ 2019 (MS-Word 2019) H S 3HSeATs o felq *iidehe ot T 8?2
Options:



1. ¢ Ctrl + Shift + D
2. % Ctrl + Shift + H
3. ® Ctrl + Shift+ U
4, % Ctrl + Shift + R

Question Number : 40 Question Id : 25498924668 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What do you understand by tab key in a computer keyboard?
Options:

1. ¥ A key on computer keyboards that inserts a tab character or moves the insertion point to
the next tab stop.

2. % A key that opens the tab dialog box.
3. # Akey that acts like a ruler.
4. % A key that describes the paragraph in your text.

Question Number : 40 Question Id : 25498924668 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HEIR HIEIS A 2 Fofl T 3177 T THSIA &2

Options:

1. ¢ SR FIEIS R Yeh THT ol STt Yeh ¢ ek I el g a1 3910 UTEe aht 3Tel ¢ LY R of STl
gl

2. % Qe ol STt SANT diery &of Wield! g

3. % U Goll oIl Tl chl A8 R el g

4. % U ol ST 3TUeh e H IR afofd et 81

Question Number : 41 Question Id : 25498925201 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With reference to computer network, NIC stands for
Options :

1. # Net Interface Card

2. ¥ Network Interface Card

3. # Network Interface Connection

4. % New Internet Connection

Question Number : 41 Question Id : 25498925201 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
FIR Acah h GeH H, NICHgof®su__ 3l

Options:

1. % Net Interface Card (3¢ $cThyg 1s)

2. ¢ Network Interface Card (Acdadh $eXhd &hls)

3. # Network Interface Connection (Acddh $eXthg chaRT)

4. % New Internet Connection (=g 3¢ haeH)

Question Number : 42 Question Id : 25498925266 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Repeater operatesinthe ___ layer of the OSI model.
Options:

1. #* transport

2. % data link

3. ¥ physical

4. * network

Question Number : 42 Question Id : 25498925266 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rtex (Repeater), OSIAGA bl IR F &rd sl &
Options:

1. % ghgdé

2. % et ol

3. ¢ fthfSiee

4, % Jcgdh

Question Number : 43 Question Id : 25498938391 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When the weather condition is snow buildup or extreme heat, which internet service is
effected?

Options:

1. % DSL

2. % Fiber

3. # Cable
4. ¥ Satellite



Question Number : 43 Question Id : 25498938391 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ttheardt, a1 srcafies it & fam & aH- O e Qar garfaa g 82
Options:

1. % Siggue (DSL)

2. % mgeR (Fiber)

3. # chad (Cable)

4.« d&arse (Satellite)

Question Number : 44 Question Id : 25498941568 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The full form of ASCIlis .

Options:

1. ® American Standard Code for Interchange Institution
2. ¥ American Standard Code for Information Interchange
3. # American Standard Code for Information Exchange

4. % American Standard Code for Information Institution

Question Number : 44 Question Id : 25498941568 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ASCII o1 guf =1 gl

Options:

1. ¥ American Standard Code for Interchange Institution (3R RUSE Tle BR S
SHISM)

2. ¥ American Standard Code for Information Interchange (3R WUSS hIS HIR FHIAE
e

3. ® American Standard Code for Information Exchange (3R RUES I8 BR FThIAIH Yaadv)
4. % American Standard Code for Information Institution (3R RUSS i Bk STHIHE

sedtegr)

Question Number : 45 Question Id : 25498941572 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The decimal equivalent of binary 110 is
Options:



1.% 2
2. % 3
3.6
4. % 5

Question Number : 45 Question Id : 25498941572 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fgamar (ar3Y) 110 &1 qermerd gAded (SdHa gferdet) 2
Options:

1.% 2

2. % 3

3.¥6

4. % 5

Question Number : 46 Question Id : 25498941586 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following functions of MS-Excel 2019 is used to find the arithmetic mean of the
arguments?

Options:

1. ¥ AVERAGE

2. % SUMIF

3. # MEDIAN

4. % PERCENTAGE

Question Number : 46 Question Id : 25498941586 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
THTE-Terdel 2019 (MS-Excel 2019) # f=ifaifad & & onlH- 41 thar™, YA~ okl SipOrd g J1ed 1d
A & felg IuahT fehar SITar 87

Options :

1. ¥ AVERAGE

2. % SUMIF

3. ¥ MEDIAN

4. % PERCENTAGE

Question Number : 47 Question Id : 25498941597 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

By default, a cell reference is a/an reference in MS-Excel?
Options :

1. # absolute

2. % circular

3. # dynamic

4. + relative

Question Number : 47 Question Id : 25498941597 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fSthice 9 T, THUT-TRIe (MS-Excel) & T Tt e Tah Geof gar 8?2
Options :

1. ¥ TsHIge (absolute)

2. % gger (circular)

3. ® g@HEAG (dynamic)

4. ¢ Rifea (relative)

Question Number : 48 Question Id : 25498941613 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The keyboard shortcut _______is used to wrap text in MS-Excel 2019.
Options:

1. # Shift + Enter

2.V Alt+H+W

3.% Ctrl+ H+ W

4. # Spacebar + Enter

Question Number : 48 Question Id : 25498941613 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATY-URIA 2019 (MS-Excel 2019) ® ¢are @l U (wrap) &= & foig FietsS iicae T I fohaT
SITaT 8l

Options:

1. # Shift + Enter
2.9 Alt+H+W
3.% Ctrl+H+W

4. ® Spacebar + Enter



Question Number : 49 Question Id : 25498941617 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an element of MS-Excel 2019 table?
Options:

1. #* Header row

2. % Banded rows

3. # Calculated columns

4. « Total columns

Question Number : 49 Question Id : 25498941617 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ffofEa # & sl=-a1, TagE-gede 2019 (MS-Excel 2019) drfelehl T dcd -Ta) 872
Options:

1. % Header row

2. % Banded rows

3. # Calculated columns

4. « Total column

Question Number : 50 Question Id : 25498941638 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following functions belongs to the 'Logical’ category in MS-Exel 2019?
Options:

1. % XOR()

2. % VLOOKUP()

3. # SQRT()

4. % DATE()

Question Number : 50 Question Id : 25498941638 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THATY-Tad 2019 (MS-Excel 2019) # fA=feifdd & @ &i4- 91 thar™ 'Logical ' goft ¥ Heifdra &2
Options:

1. % XOR()

2. % VLOOKUP()

3. # SQRT()

4. % DATE()



Question Number : 51 Question Id : 25498941642 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is the keyboard shortcut used in MS-Excel 2019 to launch a Macro dialog box.
Options :
1. % Ctrl+ F4
2. % Alt+F4
3. ¥ Alt + F8
4. % Ctrl + F8

Question Number : 51 Question Id : 25498941642 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUY-UeRde 2019 (MS-Excel 2019) & , Macro SIaNT SiaT dl=d & o folT ITAT fohaT ST arert
Fiats Micene gl

Options:

1. % Ctrl + F4
2. % Alt+F4
3. ¥ Alt + F8
4. % Ctrl + F8

Question Number : 52 Question Id : 25498941655 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The logical function returns TRUE if either argument evaluates to TRUE and FALSE if both
arguments are TRUE or neither is TRUE in MS-Excel 2019.

Options :
1. % AND
2. % IF
3. % OR
4. ¥ XOR

Question Number : 52 Question Id : 25498941655 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THYE-TaRIe 2019 (MS-Excel 2019) # afe hig 3ifRf#=z TRUE 3R FALSE a1 Hedich e § AfG a1
YA~ TRUE g AT ents o TRUE @I @t ____ @ifoiehel thareM TRUE Red &zt 81

Options:

1. %= AND



2. % IF

3. % OR
4, ¢ XOR

READING COMPREHENSION
Section Id : 2549898449
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted: 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898490
Question Shuffling Allowed : No

Question Id : 25498921385 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Wilbur and Orville Wright made the first airplane and flew it on 17 December 1903 at Kitty
Hawk in the United States of America. But they were not satisfied with their plane as it could
not stay in the air for a long time. So, they built a new flying machine which could fly longer.
They had worked very hard on it and now wanted to try their plane. They went to Mr. Huffman
who owned a cow pasture and requested him to let them fly their airplane there.

Wilbur and Orville tested their new machine the next morning. It stayed up longer this time
than it did at Kitty Hawk. More experiments followed with greater success. Miracles happened
at the pasture almost every day but no one saw them, except the cows. One day, Wilbur and
Orville invited their father to the pasture. “Be sure to bring your watch. We want you to time
this flight.”

Orville took the machine up and waved to his father as he flew over him. The minutes passed.
Fifteen...twenty....thirty. Finally, the machine landed after circling in the air for thirty-nine
minutes. One day, two men arrived in Dayton, where the Wright brothers lived. One was a
Frenchman and the other was English. Each wanted to buy the airplane and were ready to pay
a huge sum for it. “We fear the Germans,” they said. “We could easily beat them with the flying
machine.” “But we are Americans. If we give our airplane to anyone it would be our own army”
said the Wright brothers.



Theodore Roosevelt was the President of the United States then. He ordered a colonel of the
army to visit the Wright brothers. A huge crowd assembled at Fort Myer, Virginia, where The
Secretary Of War along with a dozen generals was also present. Nobody really believed that
the queer-looking machine could actually fly. Orville took up the machine and circled the field
for one hour. When he landed, the crowd went mad with excitement. The generals were
thoughtful. Then one of them asked “Have you sold the rights of this plane to any foreign
government?”. “We are Americans, General,” Orville said simply.

Sub questions

Question Number : 53 Question Id : 25498921386 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Why were the Wright brothers unhappy with their first plane?
Options :

1. # It could not fly very high.

2. # The gasoline tank was small.

3. ¢ It could fly only for a very short while.

4. # It could not land smoothly.

Question Number : 54 Question Id : 25498921387 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The word ‘miracles’ in the line ‘Miracles happened at the pasture almost every day..." refers to
the:

Options:

1. # cows not being harmed

2. ¥ success of the experiments done by Wright brothers
3. ¥ cows watching the plane fly

4. % plane flying without a pilot

Question Number : 55 Question Id : 25498921388 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mr. Wright was told to bring his watch to check the:
Options :

1. # take-off time

2. # speed of the plane

3. #* height of the plane

4. ¢ duration of the flight



Question Number : 56 Question Id : 25498921389 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage, the Frenchman and the Englishman were interested in buying the
plane because they:

Options:

1. # wished to possess a flying machine
2. * had a large sum of money

3. ® feared the American army

4. ¢ wanted to defeat the Germans

Question Number : 57 Question Id : 25498921390 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From their conversation with the Generals, we can say that Wilbur and Orville were very:
Options :

1. # enthusiastic

2. ¥ patriotic

3. * helpful

4. # greedy

Question Id : 25498921385 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
e T eIy @t U SR ITeh YR WR UKl & IR 2|

faesr 3R Rfae ge A ugen gard STgrst ST 3R 38 17 fa&sRr, 1903 ot €Yh o0 SR & fohgt gl A
ISHT| Afch & 37U gaTs STelsT & T el & Hifch Ig el THY dch a1 H gl 3§ Fehl | AT, IgiA Yeh A
Aef T Rl TR 57 et IS oR Th| I 39 WR Igd Hgd il off ofR 9@ 3 oA 39 1 g4 STETS I
ISR <@ I18d &1 3 $fHH §IthaH & U 71T, ST Ueh 98 IIRITT o HAlfeleh &, 3R 379 dgi 31U garasigel
IS T IRIY fohar|

faesr 3R SRfaeT A STl gag Sru+t 78 #=fi o1 ulieror fohan| ag fohg) gien aret STgTet 4 ifeieh Ty deh gar A
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38 T g ot fasyr 781 o= T 38T Ut foh fafr o 3@t a8 7= arda & 3 gard! g1 Sikfae 79:fi9 & ot 3ik
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Sub questions

Question Number : 53 Question Id : 25498921386 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
JTSC Y I UEH §ATE STETST & SRR i o2
Options:

1. ¥ gg 9gd ST T8l IS ehl

2. ¥ gqept NIl en Igd Bter ol

3. ¢ Jg Jgd 99T o g IS Fahr

4. % gg T § SHIH WR gl a0

Question Number : 54 Question Id : 25498921387 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gfch 'IRITTE H T &R & THehR §T..." H '"IHhR' g ohT 31 T 872
Options:

1. % T} Sl ehls TR g1 Ugol

2.« 13 Y3 gRT fohd 7Y T Bl Tehetdt

3. % T} gRT STETST ht S8 g4 4@l

4. % 31 yTgete & STgTST ol ST

Question Number : 55 Question Id : 25498921388 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

off 15¢ <t 7T TSt A & folg T ehgt T AT?
Options:

1. % Toh 3Ttk o GHA hI ST A & g

2. % gars STgret <hl 71fd <hl Siie ahed o foig

3. ¥ gars SIS hl TS chl STid e oh folg
4. ¢ IS &l HafY hl ST e & felg



Question Number : 56 Question Id : 25498921389 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

RIS o TR, hIE 3R SIS gaT8 STgTsT Rl @RieT drgd 472

Options:

1. ¥ J a1 STgTST h Hifeleh &1 drgd &
2. % I Uty dgd i 09 &

3. % gomRAI I S &

4. & 3 gg H STHAT el g1 A1Ed o

Question Number : 57 Question Id : 25498921390 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SRl o T g3 ITch! STdId o YR TR gH hg Hehd g foh faear 3R SiRfaa g

Options:
1. % Idme!
2. ¥ SAUh
3. ¥ ggr™sh
4, % et

QUANTITATIVE APTITUDE
Section Id : 2549898450
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted: 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898491
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928820 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The average age of 80 boys in a class is 15. The average age of a group of 15 boys in the class



is 16, and the average age of another 25 boys in the class is 14. What is the average age of the
remaining boys in the class?

Options:
1.+ 15.25
2. % 14

3. % 14.75

4. % Cannot be determined

Question Number : 58 Question Id : 25498928820 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Qeh hefl § 80 TSehl chl 31T 31T 15 g1 hetl H 15 TTSchl oh THg ohl 3fId 1Y 16 8, 3R el H 317 25 TSahl
Y 3Hd 31g 14 ¢ 1 hell | AV ASehl <l 3fEd g fohat 82

Options:

1.+ 15.25

2. % 14

3. % 14.75

4, % F1d T8} T ST Gepdl

Question Number : 59 Question Id : 25498928973 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What approximate value should come in place of the question mark (?) in the given expression?

(Note: You are NOT expected to calculate the exact value.)

4329 +19+6464 +13=7
Options:
1.¥ 725
2. % 625
3. % 925
4, % 525

Question Number : 59 Question Id : 25498928973 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f3Q g st 7 uy g (?) & W W l9-91 ST 719 71 A1 Q? (A1 39S Téie A i T0HT
Jruferd =gl 1)

4329 + 19+ 6464 + 13 =7



Options :
1.9 725
2. % 625
3. % 925
4. % 525

Question Number : 60 Question Id : 25498929059 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the given number series?

79,39,19,9,4,?
Options:

1. % 0.2

2.¥ 1.5
3.%0.5

4, % 2

Question Number : 60 Question Id : 25498929059 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

& 112 TR gt | v g (?) & T R T Sa?
79,39,19,9,4,?

Options:

1. % 0.2

2.¥ 15

3. % 0.5

4, % 2

Question Number : 61 Question Id : 25498929132 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The average height of 27 persons was recorded as 162 cm.
If the height of Shreya was deleted from the observation, the average height reduced by 1 cm.
What was Shreya's height?

Options:

1. % 184 cm
2. % 226 cm
3. % 179 cm

4. ¢ None of the given options



Question Number : 61 Question Id : 25498929132 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

27 afhal & 3 FETE 162 cm &of hT T 1 AT HT ST ! Wefur I geT 31 WR, 3 d S8 1 cm A gl T |
ST hY TS fehasiT of?

Options :

1. % 184 cm

2. % 226 cm

3. % 179 cm

4. ¢ g Y faheut & T IS g1

Question Number : 62 Question Id : 25498929552 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
(a+b)P+(b+c)+(c+a)?—3(a+b)b+c)(c+ a) is equal to:
Options:

| % 2(a® + b? +¢c?)

5 % @+ b%+c®+ 3abe

3 % a? + b3 4 ¢ — 3abc

4. v 2(a® + b* + c* — 3abc)

Question Number : 62 Question Id : 25498929552 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

(a+b)P+ b+ +(c+a)’-3+b)(b+c)c+a) F A FHk ST M7
Options:

1w 2@ +b +c%)

> % a>+ b+ ¢34 3abc

3. % a>+ b3 +c3—3abc



4 & 2(a> + b3 + ¢ — 3abc)

Question Number : 63 Question Id : 25498929633 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The annual incomes of A, B and C together is ¥3,99,000. A spends 80% of his income, B spends
87.5% of his income and C spends 90% of his income. If their annual savings are in the ratio 16
: 17 : 12, then the difference of savings between A and Ciis:

Options:

1. % 31,900
2. % %2,850
3. % ¥3,800
4, ¥ 34,750

Question Number : 63 Question Id : 25498929633 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A, B 3R C &l et a1iifer 31 £3,99,000 &1 A U 31T Rl 80% & ohidl 8, B U 31T <kl 87.5% @

AT & IR C U 31T T 90% Wl ohdl & | Al I7eh! qTeh 90 16 : 17 : 12 % AT A 8, af A IR C <l
gad o g foha=m siaR 87

Options:
1. % 31,900
2. % ¥2,850
3. ® ¥3,800
4, % 34,750

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549898451
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted: 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 2549898492
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910161 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

'Needle' is related to 'Thread' in the same way as 'Pen' is related to ' "
Options :

1. % Ink

2. % Cap

3. * Paper

4. % Word

Question Number : 64 Question Id : 25498910161 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

'gs' T Gy 'Y I IH YhR ¢ NG UhR ‘e e ddg ' ' F 8|
Options:

1. ¢ wrgl

2. % i

3. ® &

4, % Ueg

Question Number : 65 Question Id : 25498912948 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Each of the given letters has been assigned a unique mumber. Select the combination of numbers such that the
corresponding letters when arranged accordingly will form a meaningful word.

E|JO(C|D (LI
12 (3[4]5][6

Options:

1.%3,2,4,5,6, 1
2. % 3,2,5,4,6,1
3.%4,2,3,56,1
4.v+4,2,3,6,5,1

Question Number : 65 Question Id : 25498912948 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



f&Q T Udeh H1eR ot Uek fafre T & 3 @1 st o 39 IS ol Ia- ISy, [Saeh Hefdrd 31ert t degar
AT e TR Ueh iefeh g F7|

E 1D ]G |IBDIL ]
i ]l2 13 |4 1516

Options:

1.% 3,2,4,5,6,1
2. % 3,2,5,4,6,1
3.% 4,2,3,56,1
4.9 4,2,3,6,5,1

Question Number : 66 Question Id : 25498919015 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words in a certain way and
hence belongs to the same group.

Edge : Corner: Tip
Options:

1. % Snow

2. % Hill

3. ¢ Brink

4. % Cap

Question Number : 66 Question Id : 25498919015 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

faeheat & & I 2rea a1 99 HIfSg St fhdht fAfga ol & Ry 7Ty <l & aog & a9 ¢ ofk gafoy St wigg € wefda
2l

hR : i A7
Options :
1. % gt

2. % Ugrel
3. ¢ frmr
4. % d

Question Number : 67 Question Id : 25498919639 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Select the most appropriate description about the given set of words.

Kyat : Yuan : Rial
Options:

1. #* Nationalities
2. ® Capitals

3. % Currencies

4. % Parliaments

Question Number : 67 Question Id : 25498919639 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f4Q 7Y 2reat & g & A&y # g9 Iu<h fAaxuT 1 99+ hIfSg|

FaTd : g3 : Rarer
Options:

1. ® JPa
2. % geryifaar
3. ¢ qad

4. % gog

Question Number : 68 Question Id : 25498919773 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that is true regarding the following two statements labelled Assertion (A) and
Reason (R).

Assertion (A): Inside the earth, metals are present in a molten state.
Reason (R) : Earth absorbs the sun's rays.

Options :

1. # Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. ¥ Alis true but R is false.

4. % Ais false but R is true.

Question Number : 68 Question Id : 25498919773 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAafafaa gt syl siffeym (A) 3R &RUT (R) & 994 & I fddhed &1 994 HifSu|

SR (A): geaft o iR arqy fUereht g2 sraem J Hig gt



HROT (R): gt G <ht foreort opt sra=nfia st 21
Options:

1. % A SRR TA g, 3R R, A I Tl WEIAUT 8l

2. ®% A SR RGH 9 §, dfchT R, A ohl Tal WEIHhUT ol 8l
3. ¥ A9 g dfhd R 39 81

4, % A I g dfchT R T 81

Question Number : 69 Question Id : 25498927402 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that satisfies the same conditions of the placement of the dots as shown in the given figure.




Question Number : 69 Question Id : 25498927402 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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GENERAL AWARENESS
Section Id : 2549898452
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted: 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898493
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895307 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the short-range forecast of monsoon?
Options:

1. % 1 day

2. % 2 days

3. ¥ 3 days

4, % 4 days

Question Number : 70 Question Id : 2549895307 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HAYGH ol STcUchllclch JaT AT T 87
Options:



1. % 1fa
2. % 2f3
3.¥ 313
4, % 4=

Question Number : 71 Question Id : 25498912563 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Endosulfan spray on cashew crops resulted in pollution to the tune of tragedy in:
Options:

1. # Tamil Nadu

2. ¥ Kerala

3. #* Andhra Pradesh

4, % Karnataka

Question Number : 71 Question Id : 25498912563 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1L h! el TR SSIthIF oh [edhld & TRUMHAwERY fAmfeifad & ¥ gl FTHS! oh TR deh UGNUT §31T?
Options :

1. % afaerrg

2. B

3. % gy

4. ® wich

Question Number : 72 Question Id : 25498912622 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the largest mangrove forest in the world that constitutes 7% of the
world's mangroves, house a variety of wildlife sanctuaries, and is also a potential site to
harness tidal energy?

Options:

1. ¢ The Sundarbans in West Bengal
2. % The Maisie Forests in Ecuador
3. ¥ The Mekong Delta in Vietnam

4. % Nanmangalam Forest in Tamil Nadu

Question Number : 72 Question Id : 25498912622 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

fafafaa & @ o= a1 fay &1 g9 a1 8uta a9 & <7 fagy & duta &1 7% a7 g, fSiod fafds ueR & a=usiia siarog
g, 3R U8 SARIT SHoll T 1§ e T Ueh TTfId T oft 2

Options :

1. ¢ uf9H §rer A ez
2. % ggareR # At a1

3. ¥ fua=m 7 AT S
4, ® gAerg # 99T a1

Question Number : 73 Question Id : 25498922859 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Aristotle's lantern is found in a:
Options:

1. # starfish

2. % prittle star

3. ¥ sea urchin

4. % sea cucumber

Question Number : 73 Question Id : 25498922859 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3RE o1 ATeie (Aristotle’s lantern) fergd gram ST 82
Options:

1. ® grRT O (starfish)

2. % fged &R (brittle star)

3. ¢ gyl sife (sea urchin)

4, ® gL dhans! (sea cucumber)

Question Number : 74 Question Id : 25498932471 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Bhils revolted against the British in:
Options:

1. % Maharashtra and Gujarat

2. * Madhya Pradesh and Bihar

3. # Bihar and Bengal

4. % Bengal and Maharashtra



Question Number : 74 Question Id : 25498932471 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
el = silisil & fawseg gl fagts fmar?
Options:

1. ¢ HgRIE 3R ToRId

2. % #eg U R fagR

3. # fIgR 3R §er

4, % et ofR AgRIE

Question Number : 75 Question Id : 25498932591 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which amendment to the Constitution of India inserted a new Article 21 A providing Right to
Education?

Options:

1. % 86th Amendment
2. % 87th Amendment
3. % 88th Amendment
4, % 89th Amendment

Question Number : 75 Question Id : 25498932591 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR Sidam & fohe demem gr, e o1 SifdhR e e aTelt Gan T Sigss 21A SieT TT?
Options :

1. ¥ 86 ai Gny

2. % 87 qi dame

3. ¥ 88 i Hxned

4. % 89 gi gene=
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Question Number : 76 Question Id : 25498946268 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students
with various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Number of Questions to be attempted: 1

Section Marks : 0

Display Number Panel : Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 2549898495

Question Shuffling Allowed : No
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Question Number : 77 Question Id : 25498941565 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Each year the tree forms new cells. These cells are arranged in concentric circles called
annual rings or annual growth rings. These annual rings show the amount of wood
produced during one growing season. In Canada and the North United States the
growing season begins in the spring. At first the cambium produces numerous large cells
with thin walls that form the springwood. If you look at a cross section of a tree this is
the light-coloured ring. Towards the end of the summer the growth of the tree slows
down. The cells manufactured at this time of year are small and have thick walls. They
form the summerwood which appears as a darker ring on the tree cross section. One
year of growth is therefore represented by a ring consisting of a light part and a dark
part. Some people believe that the darker wood is not formed in winter. This is due to
cambium being completely inactive in the winter. A new two-part ring is added the
following year. The older rings are closest to the centre of the tree. The tree grows in
diameter because it manufactures new cells around its circumference, not because the
old cells get larger. The old annual rings form the heartwood of inactive cells. This is the
dead part of the tree. The live portion includes only the most recent rings. The width of
this portion depends on the age and species of the tree. This portion is generally one to
seven centimetres in width. The dead wood is the largest part of the tree. It often takes
on a darker colour. Annual rings generally exist in trees where the climate halts growth



at some point during the year. Winter causes this shutdown in our country. For some
countries it is caused by the dry season. Growth begins again in the spring or rainy
season. All trees grow by adding successive rings. The beginning and end of the growth
period may occur any time during the year. This depends on the local conditions. Some
trees in tropical forests manage to create several dozen very thin rings in a year. The
number of the rings are never the same from one year to the next. It is often difficult
and sometimes even impossible to distinguish them with the naked eye. It is extremely
hard to determine the age of the tree in such cases. Tree growth is not the same from
spring until the end of the summer. Growth is faster in the spring. Stem elongation and
diameter growth begin and end at different times. The diameter growth although
continues longer. Oaks and all other long lived species grow slowly in our climate.
Willows and aspen have a short life cycle but compensate with intense growth. Their
annual rings are wider. Often we talk about reading between the lines. This means that
someone can understand things that are not clearly stated. A cross section of a tree
shows much more than its age. Diameter growth is particularly sensitive to fluctuations
in the environment like the moisture in the soil and the air. It is also sensitive to
temperature and sunlight. Very broad rings generally indicate a good growing year. The
growth rate of a tree can be compared with that of a child.
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